We have the tail which equals 9 kg.

Then we have the head which equals 9kg + 1/3body

Then we have the body which equals head (9kg) + tail.

So let's place what we know must be right.

                              Tail                     Body                          Head

                             -------                   -------                        --------

                               9kg.                 head + tail            9kg + 1/3 the body

                       (That was quick!)           >18

                                                               <42

Must be divisible by three

Now pretty much I used a system of trail and error to see which one was right starting at 21 and going up. I found of third of each number when I reached twenty-seven I had finally found it. So the solution to the problem is...

Solution

-------------------------------------------------------------------------------

27

